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a. Hermite 18 curve il degree wirfuiinls
b. Bezier {u curve il degree wirfuwinls
c. winffaidunaine Bezier fiS1uau 32 Afn curve Hasd degree wiiuwinls
d. f1 u fililunisadreaunisues Hermite agluzadla
e. YoldiuSuuuazdedosves curve il degree aefuetals
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b. ndNALT (5,2) yaduandi (9,4) fienaiigaEudiufe (1,5) wagsi (6,3) 7 u = 0.3
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a. WifaAuR (control points) 3 fife &l (-2,3,0), (0,6,0) waz (3,5,0) uasmaunsil

L

il degree Wihduwinls (10 AL
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AUNTIVDN Hermite AB P(u) = (2u™-3u +1)P, +(-2u™+3u )Py +(u -2u +U)P’ +u™-u" )P’
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aun15ues Bezier id P (u) = ZHBi,n( u)
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